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QUESTION 1

In the Mist Access Point portfolio, which dedicated device would be used in location-based services (LBS)? 

A. AP34 

B. AP32 

C. BT11 

D. AP12 

Correct Answer: C 

Reference: https://www.mist.com/resources/ap43-access-point/ 

 

QUESTION 2

Which administrator role is based on a timed grace period for Mist site and AP configuration access? 

A. Observer 

B. Network Admin 

C. Installer 

D. Helpdesk 

Correct Answer: C 

Reference: https://www.mist.com/documentation/administrator-roles/ 

 

QUESTION 3

Which two categories are included in the Connectivity Marvis Action? (Choose two.) 

A. Offline AP 

B. Bad Cable 

C. ARP Failure 

D. DNS Failure 

Correct Answer: AD 

 

QUESTION 4

Which statement is correct about Bluetooth and BLE? 
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A. BLE is an upgrade to Bluetooth. 

B. Bluetooth and BLE use the same radio channels. 

C. Bluetooth and BLE are compatible. 

D. BLE is a newer technology than Bluetooth. 

Correct Answer: D 

Reference: https://www.link-labs.com/blog/bluetooth-vs-bluetooth-low-energy 

 

QUESTION 5

Referring to the exhibit, what do you determine about the site\\'s Time to Connect SLE metric? 

A. Successful connect averaged 1.6 seconds. 

B. Eighty percent of the Time to Connect failures are related to DHCP failures 

C. All clients cannot connect to the Internet. 

D. Time to Connect Association DHCP failures impacted 80%of users. 

Correct Answer: A 
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